4 “TeASnE

nine

Parts Catalog - Option Detail

Option Group Graphic Film Card Date

PH?E;10- 05.06 ph202gw I 29-MAR-11

Endines ISM CM570, ISM CM570/870, ISM CM875, ISM CM876, ISM CM876 E, ISM11 CM876 M103, ISM11 CM876 SN, M11
9 CELECT, M11 CELECT PLUS, M11 MECHANICAL, QSM11 CM570, QSM11 CM876

SMALL | MEDIUM | LARGE

View My Cart

PH2810-17 Module Engine Control

Electronic Control Cooler

Engine Control System:

Celect



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('ph202gw','/rtgraphics/english/parts/ph/2/ph202gw_sm.png');
javascript:swap_img('ph202gw','/rtgraphics/english/parts/ph/2/ph202gw_md.png');
javascript:swap_img('ph202gw','/rtgraphics/english/parts/ph/2/ph202gw_lg.png');

ECM Version: CM570 P2 or

CM570 A30

ECM Loc: 581.1 Vert/153.4

Horz

- Vertical Position is

Measured from the Crank C/L

to the Top of the ECM

- Horizontal Position is

Measured from the FFOB to the

Front of the ECM

1 146161 Plain Washer 3/8 in.
3085185 Temperature Sensor Intake manifold.
2 3037537 O-Ring Seal
3 3085198 Temperature Sensor Intake manifold.
4 3102651 Hexagon Flange Head Cap Screw M10 X 1.50 X 60
5 3161896 Studded Flange Cap Screw
6 3161910 Dataplate
7 3166309 Electronic Control Cooler
8 3335561 Insulating Washer
9 3335562 Ground Washer
10 3406811 Electronic Control Module Support
12 2872362 Position Sensor Cam or crank.
11 3046201 0O-Ring Seal
3408504 Electronic Control Module
13 3408501 Electronic Control Module
3409000 Bootloader Data
3681484 Non-Volatile Memory Data
14 3900589 Hexagon Flange Nut M8 X 1.25




15 3901445 Hexagon Flange Head Cap Screw M8 x 1.25 x 45

16 3903112 Hexagon Flange Head Cap Screw M10 X 1.50 X 30.

17 3925437 Hexagon Flange Head Cap Screw M10 X 1.50 X 40.

18 4059910 Heat Exchanger Support

19 4921477 Pressure Temperature Sensor Oil.

20 3330159 O-Ring Seal

21 4921493 Pressure Sensor Intake manifold.

29 3330159 O-Ring Seal

22 4954905 Temperature Sensor Coolant Or Fuel Or Qil.
23 4010519 O-Ring Seal



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

